6| 113 EF 2RBERF IR 2 |6 noow
NS ##s F¥A(RO) 4 T bl 1 18 NS ## 3% s (PC0) 10
EW =%% %2 32(30 a e EW S #e3(R0)
B# | DL | & 2R WEE ES A%EREA COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #4 | #18 | #4 [#18| #a [#18 || Mean | Ns | EW
21| N | NS 3Cs3 110 3CN5 150 40 1 NS10 | 3 -4
22| E |EW| 5cxNe | 650 5SW5 650 | 1300 16 NS100 | 11 13
23| s |Both| 3CE-1 100 3CW3 110 | 210 5 NSO 3 3
24 | W [None|  3Ns4 430 3NS3 400 30 1 NS170 | 6 -6
25| N | EW 25S2 110 1SN2 110 NS80 | 1 A
26 | E |Both| eswe 1430 6SW-1 100 1530 17 EW880 | -11 14
27| S [None| 3Ns-4 200 3NS-3 150 50 2 EW60 | -4 3
28 | W | NS 3NE-2 100 3HW4 170 | 270 7 EW220 | 8 -2
29 | N |Both| 4sxs-1 200 4SN-1 100 100 3 NS60 | -6 4
30 | E |[None| 5Ds-1 50 2Ds4 130 180 5 NS170 | -6 1
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B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R tyzex | NS | EW | cyzu% | NS | EW | #5 | #7 |#5] #7 | #5 | #7 || Mean | Ns EW
21 N NS 2SE-1 50 4SE-2 100 50 2 NS10 1 -3
22 E EW 5HXS-1 100 5SE-1 100 200 5 NS100 -5
23 | S |Both 3NE-1 100 3NW-1 100 NSO 3 -3
24 | W |None 3CN4 130 2HN3 140 10 NS170 -1 1
25| N | EW 1SN2 110 2SN3 140 30 1 NS80 1 -2
26 E |Both 6NE-2 200 2DE-1 100 100 3 EW880 14 -14
27 | S [None 4SN-1 50 3NS-4 200 150 4 EW60 4
28 | W | NS 1NXN1 180 2CXN-2 500 680 12 EW220 9 7
29 | N |Both 4SN-1 100 4SN4 620 720 12 NS60 -4 -11
30 E |None 4SN4 420 4SN5 450 30 1 NS170 6 -7
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #11 | #15 [#11]#15]#11[#15 || Mean | Ns | EW
21| N | NS 3CN4 130 2SE2 110 | 240 6 NS10 3 3
2| E | EW 5SW5 650 5CXN6 650 1300 16 NS100 | -13 -1
23| S |Both| 3NW-1 100 3CW-1 100 NSO 3 -3
24 | W |None|  3cN3 110 4CN4 130 20 1 NS170 | -2 1
25| N | EW 2SN3 140 2SN2 110 30 1 NS80 2 K
26 | E |Both| 6sWe 1430 65W6 1430 EWS80 | -11 1
27 | S |None|  4sSN-1 50 3NS-3 150 | 100 3 EW60 3
28| W | NS 25W3 140 25W3 140 EW220 | 2 -2
29 | N |Both|  4SN-1 100 4sS-2 200 | 100 3 NS60 | -4 6
30 | E |None| 3Ds4 130 4ss4 420 290 7 NS170 | -1 6
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B# | DL | & 2R WEE ES A%EREA COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #2 | #8 | #2 | #8|#2#8 || Mean | Ns | EW
21| N | NS 3CS3 110 4CN4 130 20 1 NS10 3 -3
22| E | EW| 6CXN-2 300 5SXE-2 | 500 800 13 NS100 | -9 9
23| S |Both| 3NwW-1 100 INW-2 200 100 3 NSO 3 5
24 | W |None|  3Ns-1 50 4CXN4 | 510 560 1 NS170 | -6 -8
25| N | EW 1SN1 80 2SN2 110 30 1 NS80 A
26 | E |Both| 4swz 710 6SW7 1460 | 750 13 EWss0 | 5 1
27| S |None| 5DN-1 50 3NS-1 50 EW60
28 | W | NS 3NW-2 100 1NN-2 200 | 300 7 EW220 | 8 -
29 | N |Both|  4SN-1 100 3HXW-1 | 200 300 7 NS60 | -4 -4
30 | E |None|] 4sNa 420 4sS4 420 NS170 | 6 -6
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1
R tyze% | NS | EW | 2yzu% | NS | EW | #1 [ #14 | #1 [#14] #1 [#14 || Mean | Ns EW
21 N NS 4CN4 130 1NN2 120 10 NS10 3 -3
22 E EW 5CN6 420 5SE-2 200 220 6 NS100 8 -3
23 | S |Both 3CW3 110 3NW-1 100 210 5 NSO -3 -3
24 | W |None 1NW-1 50 3NS3 400 350 8 NS170 -3 -6
25| N | EW 1SN2 110 2SN2 110 NS80 1 -1
26 E |Both 6SW6 1430 6SW6 1430 EWS880 -11 11
27 | S [None 4SXN-2 300 3NS-2 100 200 5 EW60 -6 1
28 | W | NS 1NN-1 100 1NN-2 200 100 3 EW220 3 -1
29 | N |Both 4SS-1 100 4SN-1 100 NS60 -4 4
30 E |None 3CwW-1 50 3NN-2 100 150 4 NS170 -3 7
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EW #~*4# £3%=(F0 a e EW #iie H&#(R0)
B# | DL | & 2R WEE ES A%EREA COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #13 | #17 |#13|#17|#13]#17 || Mean | Ns EW
21| N | NS 3NN-2 200 2DW4 130 70 2 NS10 | -5 4
2| E | EW 4SE-1 100 5CXN5 550 450 10 NS100 10
23| s |Both| 3cws 110 INW-2 200 310 7 NSO -3 5
24 | W |None|  3NN-1 50 3CN3 110 160 4 NS170 | -6 2
25| N | EW 2SN2 110 2582 110 NS80 1 A
26 | E |Both| 6SW-1 100 6SW6 1430 | 1530 17 EWS80 | 14 1
27| S |None| 3Ns-3 150 3SN3 140 290 7 EW60 | -3 5
28 | W | NS | 2sxn-4 1100 4HE4 420 680 12 EW220 | -13 5
29 | N |Both| 4sNa 620 4SN-1 100 | 720 12 NS60 | 11 4
30 | E |None| 3NN-2 100 2DS4 130 230 6 NS170 | -7 1
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B# | DL | & 2HE BEZ i W% A A COoP Datum
1
R R, NS | EW | &2 2% NS | EW | #9 | #16 | #9 |#16| #9 |#16 || Mean NS EW
21| N | NS 1NN2 120 2HW3 140 260 6 NS10 3 4
22| E | EW 5CN5 400 5CXN5 550 150 4 NS100 7 -10
23 | S |Both 3NW-1 100 3NW3 600 700 12 NSO 3 12
24 | W |None 3CSs4 130 3CN3 110 20 1 NS170 -1 2
25| N | EW 2SS-1 50 2SS-1 50 NS80 -4 4
26 | E |Both 5SW7 710 6SW6 1430 | 720 12 EW880 5 1
27 | S |None 2NS-3 150 3CE-1 50 200 5 EW60 -3 -3
28 | W | NS 3DS-3 300 4HW4 420 120 3 EW220 -2 5
29 | N |Both 4SN-1 100 2SN3 140 240 6 NS60 -4 -2
30 | E |None 3NN-2 100 5DS-1 50 50 2 NS170 -7 6
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B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #3 [ #10 | #3 [#10] #3 [#10 || Mean | Ns EW
21 N NS 3HW4 170 3CN4 130 300 7 NS10 -5 -3
22 E EW 5SE-1 100 4SW5 650 750 13 NS100 13
23 | S |Both 3NW-1 100 3NW-1 100 NSO 3 -3
24 | W |None 2SS4 170 3NS3 400 230 6 NS170 -6
25| N | EW 3SN3 140 P 140 4 NS80 2 2
26 E |Both 6SW6 1430 7SW-1 100 1530 17 EWS880 -11 -14
27 | S [None 4DN4 130 2SW-4 200 70 2 EW60 5 -6
28 | W | NS 4HE4 420 2SE3 140 280 7 EW220 -5 -2
29 | N |Both 4SN4 620 3SN4 170 450 10 NS60 11 -3
30 E |None 4SS6 480 4DS4 130 350 8 NS170 7 1
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B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #6 | #12 | #6 [#12| #6 [#12|] Mean | Ns EW
21 N NS 2HW3 140 3DE4 130 10 NS10 -4 4
22 E EW 5HXS5 650 4SE4 620 1270 15 NS100 11 12
23 | S |Both 3NW-1 100 3NW3 600 700 12 NSO 3 12
24 | W |None 3DW-1 50 1NW-1 50 NS170 -3 3
25| N | EW 1NS1 20 2SS2 110 20 1 NS80 -1
26 E |Both 6SW6 1430 5SW7 710 720 12 EWS880 -11 -5
27 | S [None 3NN-1 50 2NS-1 50 EWG60
28 | W | NS 2SE2 110 2SE3 140 30 1 EW220 3 -2
29 | N [Both 4SN-1 100 3CE-1 100 200 5 NS60 -4 -1
30 E |None 4CXW-3 500 4HS-3 150 650 12 NS170 8 8
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EW =% #e3(RO) a e EW =3% #%23(FC)
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
i t¥z2% | NS | EW | 2x%3223% | NS | EW | #18 | #4 |[#18] #4 [#18] #4 || Mean | Ns EW
21 N | NS 3CN5 150 3CS3 110 40 1 NS10 4 -3
22 E | EW 58SW5 650 5CXN6 650 1300 16 NS100 -13 -11
23 | S |Both 3CW3 110 3CE-1 100 210 5 NSO -3 -3
24 | W [None 3NS3 400 3NS4 430 30 1 NS170 6 -6
25| N | EW 1SN2 110 2SS2 110 NS80 1 -1
26 E |Both 6SW-1 100 6SW6 1430 || 1530 17 EW880 14 11
27 | S [None 3NS-3 150 3NS-4 200 50 2 EWG60 -3 4
28 | W | NS 3HW4 170 3NE-2 100 270 7 EW220 2 -8
29 | N [Both 4SN-1 100 4SXS-1 200 100 3 NS60 -4 6
30 E |None| 2DS4 130 5DS-1 50 180 5 NS170 -1 6
#3 IMP|28 |29 3 | -5
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Table 2
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5 NS 128 mE> (RO
EW #ssx yofa(#0)

M

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
bl H2%% | NS | EW | 6%=223% | NS | EW | #7 | #5 |#7 | #5| #7 | #5 || Mean | Ns EW
21 N NS 4SE-2 100 2SE-1 50 50 2 NS10 3 -1
22 E EW 5SE-1 100 5HXS-1 100 200 5 NS100 5
23 | S |Both 3NW-1 100 3NE-1 100 NSO 3 -3
24 | W |None 2HN3 140 3CN4 130 10 NS170 -1 1
25| N | EW 2SN3 140 1SN2 110 30 1 NS80 2 -1
26 E |Both 2DE-1 100 6NE-2 200 100 3 EWS880 14 -14
27 | S [None 3NS-4 200 4SN-1 50 150 4 EW60 -4
28 | W | NS 2CXN-2 500 1NXN1 180 680 12 EW220 -7 -9
29 | N |Both 4SN4 620 4SN-1 100 720 12 NS60 11 4
30 E |None 4SN5 450 4SN4 420 30 1 NS170 7 -6
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11 NS =i ¥ (R0)
EW smén E52 (FC0)

M

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #15 | #11 [#15]#11|#15[#11 || Mean | Ns EW
21 N NS 2SE2 110 3CN4 130 240 6 NS10 -3 -3
22 E EW 5CXN6 650 5SW5 650 1300 16 NS100 11 13
23 | S |Both 3CW-1 100 3NW-1 100 NSO 3 -3
24 | W |None 4CN4 130 3CN3 110 20 1 NS170 -1 2
25| N | EW 2SN2 110 2SN3 140 30 1 NS80 1 -2
26 E |Both 6SW6 1430 6SW6 1430 EWS880 -11 11
27 | S [None 3NS-3 150 4SN-1 50 100 3 EW60 -3
28 | W | NS 2SW3 140 2SW3 140 EW220 2 -2
29 | N |Both 4SS-2 200 4SN-1 100 100 3 NS60 -6 4
30 E |None 4SS4 420 3DS4 130 290 7 NS170 6 1
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NS #2223 K870 8 T bl 4 2 NS m& = z3d~(R0)
EW e m3lE(R0) a e EW m#g pj~ (FO0)
B# | DL | £ % MEZ 2RE ES R A~ COP Datum
1
b= Hre% | NS | EW | 6%=223% | NS | EW | #8 | #2 |#8 [ #2| #8|#2 || Mean | Ns EW
21| N | NS 4CN4 130 3Cs3 110 20 1 NS10 | 3 -3
22 E | EW 5SXE-2 500 6CXN-2 300 800 13 NS100 9 9
23| s [Both| 3Nw-2 | 200 3NW-1 100 100 3 NSO 5 3
24 | W [None 4CXN4 510 3NS-1 50 560 11 NS170 8 6
25| N | EW 2SN2 110 1SN1 80 30 1 NS80 | 1
26 E |Both 6SW7 1460 4SW7 710 750 13 EW880 -11 -5
27| S |None|  3Ns-1 50 5DN-1 50 EW60
28 | W | NS 1NN-2 200 3NW-2 100 300 7 EW220 1 -8
29 | N |Both| 3HXW-1 | 200 4SN-1 100 | 300 7 NS60 | 4 4
30 E |None| 4SS4 420 4SN4 420 NS170 6 -6
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Table 5

1

NS #4448 323%(R0)
EW #&x 2 33(F0)

M

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
i tyze% | NS | EW | 2¥z8% | NS | EW | #14 | #1 [#14] #1 [#14] #1 Mean | NS EW
21 N NS 1NN2 120 4CN4 130 10 NS10 3 -3
22 E EW 5SE-2 200 5CN6 420 220 6 NS100 3 -8
23 | S |Both 3NW-1 100 3CW3 110 210 5 NSO 3 3
24 | W |None 3NS3 400 1NW-1 50 350 8 NS170 6 3
25| N | EW 2SN2 110 1SN2 110 NS80 1 -1
26 E |Both 6SW6 1430 6SW6 1430 EWS880 -11 11
27 | S [None 3NS-2 100 4SXN-2 300 200 5 EW60 -1 6
28 | W | NS 1NN-2 200 1NN-1 100 100 3 EW220 1 -3
29 | N |Both 4SN-1 100 4SS-1 100 NS60 -4 4
30 E |None 3NN-2 100 3CW-1 50 150 4 NS170 -7 3
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NS -~ ## &¥(R0)

EW #+4# £330

10

M

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R txzex | NS | EW | 2225 | NS | EW | #17 | #13 [#17[#13|#17][#13 || Mean NS EW
21 N NS 2DW4 130 3NN-2 200 70 2 NS10 -4 5
22 E EW 5CXN5 550 4SE-1 100 450 10 NS100 10
23 | S |Both 3NW-2 200 3CwW3 110 310 7 NSO 5 3
24 | W |None 3CN3 110 3NN-1 50 160 4 NS170 -2 6
25| N | EW 2SS2 110 2SN2 110 NS80 1 -1
26 E |Both 6SW6 1430 6SW-1 100 1530 17 EWS880 -11 -14
27 | S [None 3SN3 140 3NS-3 150 290 7 EWG60 5 3
28 | W | NS 4HE4 420 2SXN-4 1100 680 12 EW220 -5 13
29 | N [Both 4SN-1 100 4SN4 620 720 12 NS60 -4 -1
30 E |None 2DS4 130 3NN-2 100 230 6 NS170 -1 7
@2t [MP| 48 |29 6 | 11
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EW Bk mk(B0) 16 Table 7

9

NS m= 2 gan(R0)
EW &= mEs(PC)

M

B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R txzux | NS | EW | 25223 | NS | EW | #16 | #9 [#16] #9 |#16] #9 Mean NS EW
21| N | NS 2HW3 140 1NN2 120 260 6 NS10 -4 -3
22| E | EW 5CXN5 550 5CN5 400 150 4 NS100 10 -7
23 | S |Both 3NW3 600 3NW-1 100 700 12 NSO -12 -3
24 | W |None 3CN3 110 3CS4 130 20 1 NS170 -2 1
25| N | EW 25S-1 50 28S-1 50 NS80 -4 4
26 | E |Both 6SW6 1430 5SW7 710 720 12 EW880 -11 -5
27 | S |None 3CE~1 50 2NS-3 150 | 200 5 EW60 3 3
28 | W | NS 4HW4 420 3DS-3 300 120 3 EW220 -5 2
29 | N |Both 2SN3 140 4SN-1 100 | 240 6 NS60 2 4
30 | E |None 5DS-1 50 3NN-2 100 50 2 NS170 -6 7
23t IMP|17 |34 29 | 3
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EW stz 53 2 (R0) a e EW i#gw g52(F0)
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R R, NS | EW | &2 2% NS | EW | #10 | #3 [[#10| #3 |#10| #3 Mean NS EW
21| N | NS 3CN4 130 3HW4 170 300 7 NS10 3 5
22| E | EW 4SW5 650 5SE-1 100 750 13 NS100 -13
23 | S |Both 3NW-1 100 3NW-1 100 NSO 3 -3
24 | W |None 3NS3 400 2SS4 170 230 6 NS170 6
25| N | EW P 3SN3 140 140 4 NS80 -2 -2
26 | E |Both 7SW-1 100 6SW6 1430 || 1530 17 EW880 14 1
27 | S |None 2SW-4 200 4DN4 130 70 2 EW60 6 -5
28 | W | NS 2SE3 140 4HE4 420 280 7 EW220 2 5
29 | N |Both 3SN4 170 4SN4 620 450 10 NS60 3 -11
30 | E |None 4DS4 130 4SS6 480 350 8 NS170 -1 -7
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Table 9

NS #7a& ¢ &4 (R0)

6

10

M

EW #2° $ig(mo0) EW me® §mi(P0)
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R txzux | NS | EW | 25223 | NS | EW | #12 | #6 [#12] #6 |#12] #6 Mean NS EW
21| N | NS 3DE4 130 2HW3 140 10 NS10 -4 4
22| E | EW 4SE4 620 5HXS5 650 1270 15 NS100 -12 -11
23 | S |Both 3NW3 600 3NW-1 100 700 12 NSO -12 -3
24 | W |None 1NW-1 50 3DW-1 50 NS170 -3 3
25| N | EW 2882 110 1NS1 90 20 1 NS80 1
26 | E |Both 5SW7 710 6SW6 1430 | 720 12 EW880 5 1
27 | S |None 2NS-1 50 3NN-1 50 EW60
28 | W | NS 2SE3 140 2SE2 110 30 1 EW220 2 -3
29 | N |Both 3CE~1 100 4SN-1 100 | 200 5 NS60 1 4
30 | E |None 4HS-3 150 4CXW-3 500 650 12 NS170 -8 -8
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